Operaciones con Nimeros Senarios (H)

121230]13

1331,
X 246

1324
X 31g

10014
— 2532

4124
— 25404

Calcule cada respuesta.

3552
+ 4341,

2304624

2535¢
X 556

11404
X 32

2354|114

10504
— 50034

114234|54¢

2510406|526

21414
+ 4242

31114
+ 44404

141334
— 53404

35544444

531504534

10424
— 25144

1541,
+ 1442
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Operaciones con Nimeros Senarios (H) Respuestas

121230]13
5254

13314
X 24

41224

1324
X 31g

45324

10014
— 2532

3042

4124
— 25404

1144,

Calcule cada respuesta.

3552
+ 43414

123334

2304624
1132

2535¢
X 556

2505214

11404
X 32

413204

2354|114
214,

10504
— 50034

15014

114234|54¢
1211,

251040d526
31204

21414
+ 4242

10423,

31114
+ 44404

11551,

141334
— 53404

43534

35544444
5554

531504|53¢
10024

10424
— 25144

35104

1541,
+ 1442

3423,
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